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§ (g.1) sin (@ + ) = sinccos§ + cosasinf,
(2.5) t?, p>—1 F(P:‘l” 550 (g.2) cos(a+ f) = cosacosfl — sinasin fi.
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(2.8) cosh at "i_s—z , s> lal .7 cos’a = %(1 + cos 2a).
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(g.8) 1+ tan’a= A
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a
[ x%dx e (ae R\{-1)}).
Ii’-‘- =1n |x]
T(%) dx = In |f(x)].
fE'. dx =ex_
[ a*dx =h_+aa" (acR™\{1)]).
[ sin xdx =-cos X,
[ cos xdx = sin X.
IW‘ =-col X
dx
Icos:x = fan x.
J tan xdx =-In |cos x|.
dx = Xjo1. L—cosx _ Isin x|
‘rsinx —lnILanfi—ln Jsin x} - I +cosx
dx _ % . myg . 1+sinx lcos x|
=1In |t + I = = -
J-r:::us X n [tan (3 EH |cos x| | — sin x

[sinPxcos%%dx (p,qeIN) p oneven,stel cosx =1,
q oneven, stel sin x = t.

p en q even, voer dubbele hoek in met behulp

¥ : -
van cos’x = I—?«i—h of sin®x = ]45-0-5—21

sin (m = n)x  sin {(m+ n)x

e . = . 2 1
J sin mxsin nxdx = ) T (m* #£n*).
sin (m = n)x  sin (m+ n)x 2 2
J cos mxcos nxdx Ster =) Am+n) (m* #n").
; __ctos(m —njx cos(m+n)x 1 P
[ sinmxcosnxdx e 1) A1) (m* #n*).
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Je**sin bxdx Te_,,_b:{“iﬂ bx — beosbx)  (a® + b* # 0).
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(t.29)

(t.30)

(t.31)

[ e**cos bxdx
J TFbiat bl 1
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dx
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[/at — x%dx
Jofat +x

[ sinh xdx

f cosh xdx
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J+/a® — x*dx
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J e *x"dx
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[at=x)™
0
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sin"xdx = [ cosPxdx

ax

€ ; 2 2
al+b={acos bx + bsinbx) (a° + b* # 0).

% rctan x (a,b eR").

Slein Iﬂ%—ﬂ (a.beRY).
= arcsin%{-v (acR*).
=ln(x+Vx*+a%)  @eR").
=In [x+ Vx¥ —a? (acR*).
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25\/32 —xt+ gznra:sin%L
2 ey
=%\/az +x2 +§2-In{x+~\fa +x%)
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cosh x.

sinh x.

ma’

G o (acR

=3

o9

p=1p-3
p—
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n! (ne IN).

inlim!)

=\’m+n+1]'.
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(n,meIN).

(ae IR'I'}.
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T e %% voor p = oneven 2 3,

%é‘% voor p = even 2 2.



